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dbiEE 30 0 24 6 0
L 4 1 3 0 0
=EFR 25 2 21 2 0
EHRE 9 0 6 3 0
MHEE 15 0 13 2 0
1A 14 1 12 1 0
BER 21 1 15 5 0
R R 20 0 18 2 0
HARE 19 0 19 0 0
HER 22 0 19 3 0
BER 30 0 28 2 0
FER 33 1 30 2 0
RIRER 29 5 15 9 0
FEIN 67 3 58 6 0
HRE 35 0 28 7 0
E LR 17 0 10 7 0
BINE 4 0 0 4 0
fBHE 12 0 6 6 0
TR0 15 0 13 2 0
EFE 30 1 21 8 0
Iz B2 18 34 2 23 9 0
FHiE R 42 1 39 2 0
ZHE 68 0 55 13 0
=ER 25 1 19 5 0
HER 25 0 17 8 0
REBAT 42 0 38 4 0
N 78 0 57 21 0
EER 54 2 39 13 0
ZRE 8 0 5 3 0
fFRLE 11 0 7 4 0
BHRE 1 0 0 1 0
SRR 1 0 1 0 0
] 1L R 33 1 21 11 0
LER 24 1 13 10 0
(I =)= 21 0 16 5 0
=T 4 0 4 0 0
FINR 20 9 11 0 0
BIRE 11 0 11 0 0
=58 1 0 1 0 0
a2 31 0 22 9 0
HER 12 0 5 7 0
RIGE 10 0 7 3 0
REARE 10 0 10 0 0
KR 10 0 9 1 0
=IFE 13 0 12 1 0
EIRER 4 0 2 2 0
ik ey 0 0 0 0
a&t 1,044 32 803 209 0




